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ABSTRACT

A Study on the Commutative Property of
Matrix Multiplication

Kim Jeong-cheol
Advisor : Park Soon-cheol
Major in Mathematics Education

Graduate School of Education, Chosun University

In this paper, we prove the followings :

Let «, 8 be real numbers. Let A and B be 2x2 matrices.. If AB=BA then,
A= aB+ BF for some real numbers «, 3. This fact is very easy and powerful
in solving problems with respect to matrices in the SAT Mock Test or others.
So, We propose that this fact should be introduced to High School Mathematics

Curriculum.
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